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vy UES =] HA]
7 10k m50IA L (58) =A BA
17 10k m50&ELA L (58) RIE 1E5¢
217 10k m50LE (B) ik A
37 10k m50ALE (58) RE 2
47 10k mb0mAE (5B) HT &&
57 10k m50LE (B) WA #iE
67 10k m50mAE (5B) e E—
77 10k m50LE (B) Pk AR
817 10k m50RALE (58) Al ~—
97 10k m50ALE (58) BER G
107 10k m50LE (B) BE Riir
117 10k m50RALE (58) SH =
127 10k m50RALE (58) £H EH
137 10k m50mRAE (5B) A+ FIIE
147 10k m50mRAE (5B) Sh IR—
157 10k m50LE (B) i &%
167 10k m50LE (B) KEF IEA
177 10k m50LE (B) HE E
187 10k m50RALE (58) E E
197 10k m50RALE (58) PE #HZ
207 10k m50AE (B) Pk M
227 10k m50IAE (%) KA &
237 10k m50ILE (%) (L #EF
247 10k m50ILE (%) Bls &4
257 10k m50LE (%) g B3k
267 10k m50ILE (%) GRS
277 10k m50AE (%) RPN S
287 10k m50AE (%) =H B
297 10k m50LE (%) BE =1
307 10k m30i&~49% LT (58) S JDrPYbNOTY
317 10k m30i&~49% LT (58) aH
327 10 k m30R~49mLL T (B) A2 2K
337 10k m30i&~49% LT (58) EHE
347 10k m30i&~49% LT (58) PR B
357 10k m30i&~49% LT (58) KA B
367 10k m30i&~49% LT (58) L% &
377 10k m30RR~49mLL T (B) Ka &
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387 10k m30m~49=m LT (5B) fRE Hth
397 10k m30m~49=m LT (5B) xH B
407 10k m30&~49IA T (B) IR IF
47 10k m30m&~49:RLL T (5B) W E R
4217 10 k m30m~49mLL T (B) LU=
437 10k m30m&~49:RLL T (58) )| {EXER
447 10k m30m&~49:RLL T (5B) MEh F
457 10k m30m&~49:RLL T (58) kH ¥
467 10k m30m&~49:RLL T (58) WE %A
477 10k m30m&~49:RLL T (5B) kRt BRX
507 10k m30m&~49:RLL T (%) Al 8
5117 10k m30m&~49RLL T (%) B B
5217 10k m30m&~49RLL T (%) ND PLOT RS
537 10k m30m&~49RLL T (%) i ERT
547 10k m30m~49mLL T (%) =k BEE
607 10k mERE~29FLULT (B) 1Eik 4T
617 10k mERE~29mUT (8) L Kith
627 10k mERE~29mUT (8) lLE X
637 10k mERE~29FLULT (B) AKX
647 10k mERE~29mUT (8) BT BAER
657 10k mERE~29mUT (8) B st
667 10k mERE~29FLUT (B) kFHF ks
677 10k mERE~29mUT (LX) IREF FETE
687 10k mERE~29FUT (L) FH #8
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T 2k maREMULE (58) §0E AKX
727 2k maRELULE (58) =lE B
737 2k maREULE (58) Ful K
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807 2k maREULE (LX) IR FRF
817 2k maREULE () SRE] FRE
827 2k maREULE (L) He f1F
837 2k maREULE (LX) AiE TRE
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927 2k mpEE (5B) ik =
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1067 2k mINFEES~6FFE (L) it FE
1077 2k mINFEES~6FF (L) hnEk D3
1107 2k mINFEEI~4FFE (B) ETEH #X
1117 2k mINFEEI~4FFE (5B) LB Es
1127 2k mINFEEI~4FFE (B) faER K%
1137 2k mINFEEI~4FFE (B) AR EZN
1157 2Kk mINFEEI~AFFE (L) =R &
1207 2k mINEET~2FFE (B) FE BiR
1217 2k mINEET~2%FE (B) T=E Mk
1227 2k mINEET~2FF (B) Hf &X
1237 2k mINEET~2FF (B) A %
1257 2k mMINEET~22F (L) EiE 16
1267 2k mMINEET~22F (L) B HER
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1337 J7I—35 s 16t
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1367 J7I)—=32 KEF =
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1387 27— FOE HEx
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